
 

 

 

 

 

 

 

 

SUGGESTED SOLUTIONS 

 

 

 
 

 

 

 

 

 

 

 

 

 

 

 
 

 



 

(2) 

 

 

 
 

(de-seasonalised) 

                    

2009 2012 

Q1 Q2 Q3 Q4 Q1 

’000) 150 162 240 390 270 

% 75% 75% 100% 150% 75% 

’000) 

÷
200 216 240 260 360 

 

 

2009 Q1  = ’000          2012 Q1  = ’000 

                                     R =   [(360-200)
(1/12)

 ] -  1  = 5% 

 
 

 

 

% %

2012 Q2 (360) x (1.05) = 378 

 

75% 

 

284 

2012 Q3 (378) x (1.05) = 397 

 

100% 

 

397 

2012 Q4 (397) x (1.05) = 417 

 

150% 

 

625 

2013 Q1 (417) x (1.05) = 438 

 

75% 

 

328 

    

    1,634 

 

      (ii)               =         1,600,000 

 

 

(( ) 

 

(i) 2012/2013 f     =     (1,600,000800) 
 

      

 

        

 

 

’000 

 



 

(3) 

 

(ii)  X Y 
        

 
  
 

        
 

(Q ) =

 X = 

 Y = 

=  

= % 

           = (160,000) x (10%)  = 

√  

 

 

Y 

√ 

 

(  

 

 

 

 

 X 

     

 

 

 

  

= (2000/50) x 10,000    =  400,000 

 

= (50/2) x 16,000          =  400,000 

     

            =  800,000 

          

 

Y  

       

  

= (2,000/60) x 8,700         =  290,000 

 

= (60/2) x 16,000 x (3/5)  =          288,000 

     

                =  578,000 

 

 

 

        (iii)  

2 x 2,000 x 8700 

(160,000 x 0.1 x (1 - 2,000/5,000) 

2 x 2,000 x 10,000 

160,000 x 0.1 

OOQ =  

==)   

X Y 

OOQ    = 

OOQ    = 



 

(4) 

 

     (  

 

        

      

 

(i)  

 

(ii)   

 

(iii)  

 

(iv) 
 

 

 

     

 

 

  

   

÷ ÷ 12.50 - 

÷ ÷ - 18.50 

  

  

12,100 11,000 

  

÷ 151,250  

÷  203,500 

7,562,500 10,175,000 

÷ 625.00 925.00 

 

 

 

 

 

X, 



 

(5) 

 

 

,562,500.00)

,175,000.00)

÷
÷

÷

  

  

, 6,050,000 - 

               - 8,250,000 

6,050,000 8,250,000 

  

÷ 500.00  

÷  750.00 

  '000  

72,000.00  

89,250.00  

161,250.00  

 

       (48,300.00) 

       (62,737.50) 

          50,212.50  

         (3,225.00) 

 (10,000.00) 

            1,475.00  



 

(6) 

 

          38,462.50 

 

 
  

2,500.00 3,700.00 

 

÷ 400.00 600.00 

 

625.00 925.00 

 

500.00 750.00 

 

4,025.00 5,975.00 

 

 

 
 

       11,750  

 

10,800  

       10,000  

 

10,000  

         1,750  

 

     800 

            500  

 

     750  

            875,000 

 

     600,000 

 

( ) 

    .’000 

   12,000)  72,000.00 

   10,500)  89,250.00 

  161,250.00 

  (3,225.00) 

  158,025.00 

   

   

  (42,300.00) 

  (54,862.50) 

  60,862.50 

 (12,500.00) 

  (10,000.00) 

 38,362.50 

     

  

 
   



 

(7) 

 

  

  

  

( )(i) 

       

   100,000  

 

      

              500                   250    

 11,750           

12,250  

10,800             

11,000  

  

  (12,000) (10,500)   

          250          550    

               

(250) 

                  

300  
 

          500         750    

 (125,000) 225,000    

            

 

(ii)  

 

 

 

 



 

(8) 

 

 

 

 

A 

 



 

(9) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

(10) 

 

 

 

 

 

 

PV = C [(1- (1+r)
-n

)]/r + MV/(1+r)
n

 12%  

 14%  

PV = 80 [(1-(1+7%)
-20

)/7%] + 1000/(1+7%)
20

] 

PV = (80 * 10.594) + (1000/3.869) 

PV = 847.52 + 258.42  

    1,105.94 

 

 

 

 

C = 1,000*16%/2 = Rs.80 

MV = 1,000 

  PV = 80 [(1-(1+6%)
-20

)/6%] + 1000/(1+6%)
20

] 

  PV = (80 * 11.4699) + (1000/3.207) = 917.60 + 311.80 

  
    1,229.40   

 



 

(11) 

 

 

 6% ( 

7% ( 

% 

IRR = 6% + ((7%-6%)/(79.40 -(- 44.06)*79.4)) = 6.643%  

= 6.643%  

  = 6.643 ×2 = 13.29%

 

 

 

 

 

 



 

(12) 

 

 

 

 ( )                                          

                   2012 

i

    
= 

2,000,000 
= 10  

200,000 

= 
220,000 

=  22,000  
                             10 

= 200,000-22,000 =  178,000  

      ii 

    
= 

20 
= 1000 

0.02 

= 3,600 x 1000 = 3,600,000 

= 3,600,000 -270,000 = 3,330,000 

= 
3,330,000 

= 925 
3,600 

      iii 

    
= 

10 
= 100 

0.1 

= 
320 x1,000 

= 3,200 
            100  

= 

   =      178,000 x0.1 = 17,800 

= 

   =    17,800+3,200  =  21,000  

     iv 

 

   

 

=      178,000 X 15 = 2,670,000 

    
=               70,000-45,000 = 25,000 

=  2,670,000-25,000 =  2,645,000 

 

 

 



 

(13) 

 

 

 

(

 

 

 

      

 

 

(i)    

  (1,200,000/20,000) 60   

 15   

 15   

 90   

     

(ii) q  (TC 

TC = ( ) × (q) + 

= = 

60,000+90,000 = 

  

 TC = 90q + 150,000   

    

 

 



 

(14) 

 

    

 

 3 x 20,000/1,000 i.e. by Rs. 60 to Rs 150 (= 90 + 60) 

 

P 

 

    

 P = 150 - 0.003q   

     
 

TR function) 

TR =( p) ×(q) 

TR = ( 150 - 0.003q) × (q) 

TR = 150q - 0.003q
2
 

  

 

 

 

TR q 
 

MR = 150 - 0.006q 

  

 

   

(iii) MC = MR   

      90 = 150 - 0.006q,    q = 10,000   
 

 

 = 150 - 0.003q  =  Rs 120 

  

 

   

 = [(120 - 90) x 10,000] - 150,000      = Rs 150,000 

 

  

 

 30/-

 90 –  30;  = 60 
 

  

 345,000, 

 = 150,000 + 345,000 =  495,000 

 (TC)   TC = 60q + 495,000   

    

 MR = MC   

 60 = 150 - 0.006q,   q = 15,000  

 

 

  



 

(15) 

 

 
 

   
 

 = 150 - 0.003q  =  105 

 

  

  = [(105 - 60) x 15,000] - 495,000 =  180,000   

 

     

( ) 

 
 

 

2. 

 

     

(  '000) 

 

     48,750.00   

    (40,125.00)  

      (6,000.00)  

       2,625.00  

 

 

(a)  
 

  
 

 

 
 

 (600/96*2)                   12.50   

   

 (450/90*2)                   (10.00)  

                 2.50   

 A        187,500.00   



 

(16) 

 

 

     
  

 

                                                  

 

 90,000/2,000 45.00  

 (

) 

  

    

    

      (20,000/80%) 25,000.00   

  15,000.00   

    40,000.00   

    

    

 % (90,000/2,000*80%)         36.00   

 % (40,000/2,000*20%)           4.00   

  40.00   

    

 ( 45.00- 40.00) 5.00   

 75,000 (75,000* 5.00) 375,000.00   

  (150,000.00)  

 B   225,000.00 

  

 

A B

  

 

 

 

 

412,500.00  

 

 (75,000*20)               (1,500,000.00) 

 

 

 1,087,500.00)  

 

 

 

 

 

 

 

 

 

 

 



 

(17) 

 

 

 

(   

 

(650.00 - 20.00) 

 

630.00  
 

    

            (535.00)   

                  2.50    

                  5.00    

         (527.50)  

            102.50   

      
             6,150,000.00   

 2,625,000.00   

 8,775,000.00   

 8,775,000/102.50)            85,610   

 

( )  C 

 

 

(85,000*630) 

           

 53,550,000.00 

 

    

       (527.50)  

 
 

      

(12.60) 

 

  (540.10)  

    

  (45,908,500.00)  

          (53,550,000 – 45,908,500)               7,641,500.00   

     

   (6,150,000.00)  

 

 

     1,491,500.00   

 

 

  

 

 (2,625,000 - 1,500,000 + 412,500 )        1,537,500.00   
 

     

   

 

 



 

(18) 

 

 ( ) 

 



 

 

 

 

 



 

(19) 

 

 

 

(c )    

AA ( 50,000 *98%)        49,000  

 

( .220 x 49,000   – .170 x 50,000 ) 

     2,280,000.00  

  

     (1,700,000.00) 

x  x        (140,000.00) 

         440,000.00  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

(20) 

 

                                                                           

 

“ ˜”

“ ˜” suggested 

solution

²

 

 


